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75,000& * 29 * 32 x 23] 900
O XIBHAFEE AEf AN H 24X
20,0003 = 2% » 52 x I E 1,200
206 M = Hl 900 900 0
01 =4l 900 900 0
O SYsTUX H4H ASUE 7Y
4,500& * 50kg * 22 x 23] 900
401 Al HI L 2 0HHI 330,000 200,000 130,000
2 150,000
Al 180,000




2N

X{ XH -
S =

PRS- DS
SAACHI 245 N (FELXAMNL/AHER)

Sol: XNHAHR X EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 Al gl 327,516 198,560 128,956
O QELAEI JIEHAIE FHI
30,000,000 * 98.92/100 29,676
O sds3aHA == JIBAIE EHl
300,000,000 * 99.28/100 297,840
& 150,000
Al 147,840
03 Al S ThHI 2,484 1,440 1,044
O QELAEI JIEHAIE FHI
30,000,000 = 1.08/100 324
O sds3aHA =5 JIBAIE EHl
300,000,000 = 0.72/100 2,160
402 RIZ2EA20l A 150,000 150,000 0
01 RIZERI2E X 150,000 150,000 0
O QEME HaXeld 29H BX
75,000,000& * 2& 7| 150,000
HRES(KNAZHD) (MY - SAI/ae - SAD| Y 600,000 300,000 300,000
)
HEHHK = 600,000 300,000 300,000
HEHH X = 600,000 300,000 300,000
702 JISdES 600,000 300,000 300,000
(EPIE=RSE-i= 600,000 300,000 300,000
O H==Al SAJ/8EHI=S 2d 8=
600,000,000 * 14 600,000
HE2HZH (RIS Z D) (IIEH/IIE) 60,501 54,113 6,388
ol 2 gl 1,575 1,203 372
ol 2AH| 1,575 1,203 372
101 14 dl 1,575 1,203 372
03 RIAHAZ 2T E =+ 1,575 1,203 372
O o452l N2 T2
7,290% * 1H * 18AI2H » 12043 1,575
Jl= &l 58,926 52,910 6,016
Jl2234 58,926 52,910 6,016
201 Let24d] 42,574 37,079 5,495
01 At 22l 42,574 37,079 5,495
O LBt==ZHl SHH & 12,735,000& * 14 12,735
O =&t SHAL 29,839,000 = 14 29,839
202 (44l 12,152 11,631 521
01 = LH o4 1l 12,152 11,631 521
O FUHAHY SHAHA 12,152,000& * 14 12,152
203 YR =&l 4,200 4,200 0




R RPN R =Ny
M HHE2HAH(XNLSZ M) (IIEHIIE)
& 123l

x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o e
04 NI 4,200 4,200

O NSZMD(ZA 229) 350,0008 + 124 4,200






